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BHEENRE SHTEET 2 RBEON ZEHR)E(-75m)RETE
4 L IRE - WAKTiE By B = i oo ) i
EEIZE 39,087, 839
G4k (7. 5m) 39,087, 839
BET 25,756, 612
TS5 J%%ET 719, 906
55 J%E (HTMEHR) 719, 906
1-1 95 7%% EEHMER) (1) BELH NEIOKTE 106. 00 3,236 343,016
m3
1-2 95 7%% BEHWER) (2) BELH NE10~30FK K 85. 00 4,434 376, 890
m3
WLigiggET 25,036, 706
WL AgigE GLiITaERE) 25,036, 706
1-3 BB (BEhHER) £ ®Y 1,534.00 15, 099 23,161, 866
m3
1-4 55 0REMELRAARGEAN J5T8EM FELLA) #WMDT.5m3 (R/Sy F 1.00 1,874, 840 1,874, 840
HIER) =) .
=
TiT 13,331, 227
TEMERT 4,566, 075
TEMERR GRITAIERE) 4,566, 075
1-5 LiEMEHR GRITAIEE) Hv F/3—2 1000m3FE 1,725.00 2,647 4,566,075
m3

Bt

8, 765,

152




BHHEENRE SHTEERL RBON 2B HX)EH-75mBETE

£ R R - BKsHE X % = B ® & W =
Bt 6, 213, 450
1-6 %Mzt Hy kA= 1000m3FE. ¥'S5 TAHE3m3 1,725.00 3, 602 6,213, 450
m3
TRYEEW 2,551,702
1-7 HEE8/EY 10.00 3,510 35,100
m3
1-8 A JL—X) B &R 1,725.00 259.9 448, 327
m3
1-9 T RYEER B @R~ TIEER 1,725.00 1,199 2,068, 275
m3
HEREE FEL) 26, 500, 986
HEBREE 26, 500, 986
HBEREE 26, 500, 986
Elft + Z LM E 19, 317, 899
Elfi 19, 317, 899
1-10 [EIfZE (1) TS5 J%kEMm FELBA) D7 bm3fk EHERE~ 1.00 14, 445, 802 14, 445, 802
meRE K -
1-11 EfiZ (2) Ay b= 1000m3tE EEHE~F2RE FIK 1.00 4,872,097 4,872,097
=
EXBRLEREE 6, 335, 000
KE B R 6, 335, 000
1-12 BEGLEERE 20%x20m 1.00 1,224,000 1,224,000
=




BHHEENRE SHTEERL RBON 2B HX)EH-75mBETE

£ b g - BAKTR Bify H = B * B =

1-13 BAMLEREE 20x20m 1.00 1, 050, 600 1, 050, 600

=1
1-14 &L RENE 20%x20m H=10m 1.00 4,060, 400 4,060, 400

=%
2 728, 087
REREK 728, 087
1-15 REESEM 1.00 728, 087 728,087

=
BirEEE 120, 000
Bt 120, 000
1-16 HiTEEE HBREDMAE 1.00 120, 000 120, 000

%
EiZAEE 4,343,929
BIEEH 4,343,929
TILTF E— LR 4,343,929
TILTF E— LR 4,258,929
BIE%E 516, 398
2-1 AlE¥fH 1.00 199,576 199,576

=
2-2 HEAERR QEELY) (1) IR 1.00 158, 411 158, 411

=
2-3 HEAIERR QEELY) O B TR 1.00 158, 411 158, 411

=




BHHEENRE SHTEERL RBON 2B HX)EH-75mBETE

£ g I - KT BfI 8 =2 B M i £ wmE

KRA= 1,373,152
2-4 fEEET Xk (ICT) (1) TR 1.00 665, 681 665, 681

=
2-5 fEEET Xk (ICT) (2) % THF 1.00 665, 681 665, 681

=
2-6 < ILF E—LBIE (ICT) (1) TR 0.01 1,144,979 11, 449

km2
2-7 R ILF E—LBIE (ICT) (2) % THf 0.01 3,034,195 30, 341
km2

[5Z] 2,369, 379
2-8 AIET—A2 M (ICT) (1) TR 1.00 683, 394 683, 394

=
2-9 AIET—42 2\ (ICT) (2) % THf 1.00 1,685, 985 1,685, 985

=
EERE 85, 000
[5Z] 85, 000
2-10 ¥#EBERR 1.00 85, 000 85, 000

=
B[R 271, 430
BlEXHE 271, 430
TILFE—LBIE 271, 430
EEAGE 269, 350
[5Z] 269, 350




BHHEENRE SHTEERL RBON 2B HX)EH-75mBETE

% i) it - Bkt A 1 n g g ff & @ # =
3-1 3RTEkatT — 5 #ERL (ICT) 1.00 269, 350 269, 350
EiEER 8,080
E=HRARE 8,080
-2 EHERAMRE 1.00 8,080 8,080
=




EHEERER SHTEERL RBON 2B HX)EH-75mBETE

% g - KSR Bifr B 2 B i & #B " =
EEIEE 39,087, 839
MEIEE 31,338,517 + 15,712,120 47,050, 637
HERERE GDH 26,500,986 + 4,442,353 + 395,178 31,338,517
HBRBE (FEL) 26, 500, 986
HBREE (R) 45,422,839 x 9.78% ((6.32% x1.28 +1.50%) x 1.02) 4,442, 353
BERERER 45,422,839 x 0.87% 395,178
RisEER 70,426,356 x 22.31% ((20.12% +1.54%) x 1.03) 15,712,120
TER 39,087,839 + 47,050, 637 86, 138, 476
—REEES 86,138,476 x 17.42% (17.42% x 1.00) — 8,253 14,997, 069
LR E 86,138,476 x 0.04% 34,455
T &l 86,138,476 + 14,997,069 + 34, 455 101, 170, 000
EHENEE 4,343,929
HRE 4,343,929 x 72.3% — 4,589 3,136,071
AEEEE 4,343,929 + 3,136,071 7,480, 000
BB E TS 7,480, 000
BRI 269,350 + 8,080 277, 430




EHEERER SHTEERL RBON 2B HX)EH-75mBETE

% g FE - KSR Bifr 2 B Off & B W =
BEEAGE 269, 350
EERE 8, 080
T DR f 269,350 x 53.85% ( 35% + (1 — 35%) ) 145,044
BRI 277,430 + 145,044 422,474
—REEES 422,474 x 53.85% (35% = (1 — 35%) ) — 9,976 217,526
KBS 422,474 + 217,526 640, 000
B EHEAE 101,170,000 + 7,480,000 + 640, 000 109, 290, 000
HEREELE 109, 290,000 x 10.00% 10, 929, 000
FEIZRE 120, 219, 000
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SHTEER2RBON 2 IEHX)iAM-T5m)BETE

&5 :1-1
B U7 BEFEHMER) (1) BWELW NE10ERE 1B%Y (1129m3)
2 b g - BIRTE = vd = BHoO(f ® W E " =
55 JREMEELER) (R/8y FX) #8D 7.5m3
B 1.00 3,161, 039. 00 3,161,039/2.50H / 8H
S (U S TgEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 474, 856. 00 474,856/2.00H / 8H
MM EXENOY
% 0.50 3,635, 895.00 18,179
& B YEZERESN 0 1,120.00m 3 3,236.00 3,654,074
&5 :1-2
B ST BEEEHMER) 2) BELR NE10~30KERE 1HHY (824m 3)
2 b g - IRTE =X v = B O(f ® W = " =
55 JREMEELER) (R/8y FX) #HD 7.5m3
B 1.00 3,161, 039. 00 3,161,039/2.50H / 8H
S (U S TigEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 474, 856. 00 474,856/2.00H / 8H
MM L NOY
% 0.50 3,635, 895.00 18,179
& H 1E%8BEH : 824.00m 3 4, 434.00 3, 654, 074
&5 :1-3
£ WAL (REOMEDR) B BE 1HHY (242m3)
2 b g - IRTE By = BHO(f ® W = " =
55 JREMGELER) (X/8y FRX) (A5 #8D 7.5m3
HIERY) B 1.00 3,161, 039. 00 3,161,039/2.50H / 8H
S (U S TgEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 474, 856. 00 474,856/2.00H / 8H
MR L NOY
% 0.50 3,635, 895.00 18,179
& B YEZERESN : 242.00m 3 15, 099. 00 3,654,074




Rifiz-ET/\v7r—o

SHTEER2RBON 2 IEHX)iAM-T5m)BETE

&5 :1-4
G VS T7BEMELBR) AR GEAHER) J>J8EM FELHEMA) MDT.5m3 (R/8y FR) I
2 b g - BIRTE = vd = BHoO(f ® W E " =
55 TJREMGELER) (X/8y FRX) (A5 #8D 7.5m3
HIERY) B 1.00 1, 620, 820. 00 1,620, 820 #tA
S (U S TgEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 254, 020. 00 254,020 #£H
& Hi 1YE%HeH - 1.00K 1, 874, 840. 00 1,874, 840
&5 :1-5
& LEMER GRITRIERRR) Ay k/3—2 1000m3FE 1HHY (250m 3)
2 b g - IRTE =X v = B O(f ® W = " =
Hy b= BEHHER) 55 JBE 3.0m3 1000m3%E
B 1.00 289, 640. 00 289, 640 #£H
i £MD 1300PS#Y
B 1.00 368, 846. 00 368,846 /2. 00H / 8H
MR L NOY
% 0.50 658, 486. 00 3,292
& B YEZERES : 250.00m 3 2,647.00 661, 778
&5 :1-6
L EEMBET Hy bN— 1000m3FE. 'S5 TEEIMI 1HHY (250m 3)
2 b g - BIRTE By = BHO(f ® W = " =
Hy b= BEHHER) 55 JAE 3. 0m3 1000m3%E
B 1.00 676, 515. 00 676,515 8H
i £MD 1300PSZY
B 1.00 219, 520. 00 219,520 #£H
MM =3OV
% 0.50 896, 035. 00 4,480
& B YEZERESN : 250.00m 3 3,602.00 900, 515




Rifiz-ET/\v7r—o

BHTFEEE 2 REGH 2B RX)RH(-7.5m)RETE

&5 1-1
&% B LEANEY 1B%Y (36m3)
£ £ I - BIKTE BT = B ® % 1 & &
Ny IR (AR5 RE) 1L#£0. 8m3 (FFFE0. 6m3)
B 1.00 55, 338. 00 55, 338
KEIL—H 1LIF50. 8m3 (*F3&0. 6m3)
B 1.00 70, 408. 00 70, 408
HEHE 2RD%
% 0.50 125, 746. 00 628
& i 1E%HES : 36.00m 3 3,510.00 126, 374
&= :1-8
£ BWAUL—X) BEEFR Tm3%y
£ £ I - BIKTiE BT = B ® % 1 & &
&A (L—X) B &R
m3 1.00 259.9 259.9
& Hi 1E%HEH : 1.00m 3 259.9 259.9
&5 :1-9
£ TREER SLEm~TEEmM TIm3%y
£ £ I - BIKTE BT = B ® % 1 & &
TREER B L&~ TR ERT
m3 1.00 1,199 1,199
& Hi 1E%HEH : 1.00m 3 1,199 1,199




Rifiz-ET/\v7r—o

BHTFEEE 2 REGH 2B RX)RH(-7.5m)RETE

&5 :1-10
£ BEMEN) JS7%EM BELBERA) MDT. n3R EHES~FAIRE FK TE%Y
% L R - BTk B = B ® # ] w *=
BsE
= 1.00 3, 750, 000. 00 3, 750, 000
BiRE
= 1.00 2,168, 958. 00 2,168, 958
B
= 1.00 7, 838, 000. 00 7,838, 000
B0 i AR A
= 1.00 382, 500. 00 382, 500
RE&EE
= 1.00 306, 344. 00 306, 344
& B 1E%8E - 1.00[ 14, 445, 802. 00 14, 445, 802
&5 1-11
B EME () Hy bA—2 1000m3FE BEE~TEoRB T8 1HHY
% L R - BTk B = B ® # ] w *=
BEE
= 1.00 438, 000. 00 438, 000
BiRE
= 1.00 2, 049, 969. 00 2,049, 969
B
= 1.00 2,153, 280. 00 2,153, 280
B0 i ER B A
= 1.00 28, 430. 00 28, 430
RE&EE
= 1.00 202, 418. 00 202,418
& B 1E%8E - 1.00[E] 4,872, 097.00 4,872,097
&5 1-12
£ BAMLE#HRE 20x20m 1ELyY
% L R - BTk BT = B ® # ] w *=
BAEM LB Be b L— A (#2120 x 20miR)
= 1.00 1,224, 000. 00 1,224,000
& Bl EXEBED - 1. 00 1,224, 000. 00 1,224,000




Rifiz-ET/\v7r—o

SHTEER2RBON 2 IEHX)iAM-T5m)BETE

&5 . 1-13
B FEBIEREE 20%x20m 124y
£ b g - BIRTE BAf = B ® W E " =
EE RS e LD L—2sAd (#5120 x 20miR)
= 1.00 1, 050, 600. 00 1,050, 600
& Hi 1E%HEh - 1. 00E 1, 050, 600. 00 1,050, 600
BE . 1-14
L EEGIERERNE 20%x20m H=10m 1LY
£ b g - IRTE BAf = B ® W = " =
EEM L 20X20m
= 1.00 700, 400. 00 700, 400
EEMLEE R 20%x20m H=10m
= 1.00 3,360, 000. 00 3, 360, 000
& Hi 1E%HeH - 1.00K 4,060, 400. 00 4,060, 400
&S . 1-15
£ REEEM 1LY
4 b g - IRTE BAf = B ® 5 W = " =
ZEEEMm FRP D 180PS#Y
B 7.00 103, 495. 00 724,465 6.00H / 8H
MM =X OV
% 0.50 724, 465. 00 3,622
& B 1E%HeH - 1.00K 728, 087. 00 728, 087
&S . 1-16
&% HiTEEE HERBREDRRE 1LY
£ b g - BIRTE BAf = B ® 5 W E " =
HREIMAE
I=E 1.00 120, 000. 00 120, 000
& Hi 1E%HeH - 1.00K 120, 000. 00 120, 000




Rifiz-ET/\v7r—o

BHTFEEE 2 REGH 2B RX)RH(-7.5m)RETE

BB 2-1
L RIS IEE1D)
£ 5 L - BIRTiE BT = B & # = " =
IS EHER
A 1.00 60, 600. 00 60, 600
BIEHRER
A 1.50 52,300. 00 78, 450
BIE B
A 1.00 41,100. 00 41,100
BEENF
A 0.50 34,900. 00 17, 450
HEMH 2RD%
% 1.00 197, 600. 00 1,976
& B 1E%HeH 1,00 199, 576. 00 199, 576
BS .22
B HAIER QEELY) (1) RBIR IEED)
£ 5 I - BIRTiE BT = B & # = " =
BIEWENE
A 2.00 28, 700. 00 57, 400
cSwy 2t
B 1.00 34,817.00 34,817/4.70H / 8H
Jz)—EE 2t#5. bmkiE
= 1.00 65, 272.00 65, 272
HEMH 72z —BERLEEDY
% 1.00 92,217.00 922
& B 1E%HeH - 1.00K 158, 411.00 158, 411




Rifiz-ET/\v7r—o

BHTFEEE 2 REGH 2B RX)RH(-7.5m)RETE

&5 :2-3
£ BMIERQEESY) () BRI =1
2 b g - BIRTE X = B 4 ) W E " =
BIEWHEE
A 2.00 28, 700. 00 57, 400
FSvy 2tiE
B 1.00 34,817.00 34,817/4.70H / 8H
Jz—EBE 2t#E. SmkKiE
= 1.00 65, 272.00 65, 272
MR 1) —EERCEERDY
% 1.00 92,217.00 922
& B 1E%HeH 1,00 158, 411.00 158, 411
&5 :2-4
A BETXKICH (1) #IF 1zt% Y
2 b g - IRTE By = B 4 ) W = " =
REE 5S4 kY 2L
B 1.00 3,749.00 3,749/2.00H / 8H
BIEFEHEM
A 1.00 60, 600. 00 60, 600
RIS HRER
A 1.50 52,300. 00 78, 450
Bl S H A
A 1.50 41,100. 00 61, 650
BEENF
A 1.00 34,900. 00 34,900
A= FRP D 70PSZE!
B 1.00 54,102. 00 54,102 8H
GNSS:AIfiI £ & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
MR ELNOY
% 1.00 659, 091. 00 6, 590
& B 1E%HeH - 1.00K 665, 681. 00 665, 681




Rifiz-ET/\v7r—o

BHTFEEE 2 REGH 2B RX)RH(-7.5m)RETE

&S :25
A BBETRXKICT (2) BIK 1zt% Y
£ Eu g - BIRTE By = B ® % W = i

REBHE 54 kY 2

A 1.00 3,749.00 3,749 2.00H / 8H
BIEFEHEM

A 1.00 60, 600. 00 60, 600
BIEHRER

A 1.50 52, 300. 00 78, 450
BIEHEn

A 1.50 41,100. 00 61, 650
BEENF

A 1.00 34, 900. 00 34,900
BIEf FRP D 70PSZ!

A 1.00 54,102. 00 54,102 8H
GNSS:AIfiI £ & DGNSS

A 1.00 25, 740. 00 25,740
TILFE—LEEBIEE 36~455kHz

A 1.00 339, 900. 00 339, 900
MM 2RD%

% 1.00 659, 091. 00 6, 590
& i 1EZBER - 1.00 665, 681. 00 665, 681




Rifiz-ET/\v7r—o

BHTFEEE 2 REGH 2B RX)RH(-7.5m)RETE

&S :2-6
B IIFE—LABRACT) (1) I 1HHY (0.53km2)
£ 5 L - BIRTiE BAf = B & # = & &
REE 5S4 kY 2L
B 1.00 3,749.00 3,749/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 54,102. 00 54,102 8H
B2 FEHER
A 1.00 60, 600. 00 60, 600
RIS HRER
A 1.00 52, 300. 00 52,300
BIE D
A 1.00 41,100. 00 41,100
BEENF
A 0.50 34,900. 00 17, 450
GNSS:BIfI & DGNSS
B 1.00 25, 740. 00 25, 740
TILFE—LEEBIEE 36~455kHz
B 1.00 339, 900. 00 339, 900
HEMH 2EDY
% 2.00 594, 941. 00 11, 898
& B YE%HEN : 0.53km2 1,144, 979. 00 606, 839




Rifiz-ET/\v7r—o

BHTFEEE 2 REGH 2B RX)RH(-7.5m)RETE

&5 :2-1
B TILFE—LAGRACT) (2) BIRE 1B%Y (0.2km2)
2 b g - BIRTE = vd = B Ol ® W E " =
REE 5S4 kY 2L
B 1.00 3,749.00 3,749/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 54,102. 00 54,102 8H
BIEFEHEM
A 1.00 60, 600. 00 60, 600
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
BEBF
A 0.50 34,900. 00 17, 450
GNSS:BIfI & DGNSS
B 1.00 25, 740. 00 25, 740
TILFE—LBERZEH 36~455kHz
B 1.00 339, 900. 00 339, 900
MR L NOY
% 2.00 594, 941. 00 11, 898
& B EEREN :0.20km 2 3,034, 195.00 606, 839
&5 :2-8
ZF5 BIERT—ABE(C) (1) RBIk 14y
2 b g - IRTE By = B O ® 5 W = " =
BIEFEHEM
A 3.10 60, 600. 00 187, 860
RIS HRER
A 4.10 52, 300. 00 214,430
Bl S H A
A 6. 20 41,100. 00 254, 820
MR ELNOY
% 4.00 657, 110. 00 26, 284
& B 1E%HeH - 1.00K 683, 394. 00 683, 394
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Rifiz-ET/\v7r—o

BHTFEEE 2 REGH 2B RX)RH(-7.5m)RETE

&5 :2-9
ZF5 BIEERT—ABE(ICT) (2) BIRE 14y
2 b g - BIRTE = vd = B Ol ® # " =
BIEFEHEM
A 5.10 60, 600. 00 309, 060
BIEHRER
A 14.40 52,300. 00 753, 120
Bl S H AN
A 13. 60 41,100. 00 558, 960
MR 2ER0Y%
% 4.00 1,621, 140. 00 64, 845
& B 1E%HeH 1,00 1, 685, 985. 00 1,685, 985
&5 :2-10
2% EBRRA I
2 b g - IRTE By = B O ® # " =
EBHRERERE
= 1.00 85, 000. 00 85, 000
& Hi 1E%HeH 1,00 85, 000. 00 85, 000
&5 : 3-1
2R SRITEET T — R HERK (ICT) s ER
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.50 59, 600. 00 89, 400
e (B)
A 1.50 48, 500. 00 72, 750
AR (C)
A 1.00 40, 300. 00 40, 300
& Hi 1E%HEDN - 1. 00HEER 269, 350. 00 269, 350
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RiEFK-FET/\vr—2 SMTEET 2 RBON 2B R)H#(-7.5m)% R TE

&S 32
&% EHARE
£ 5 L - BIRTiE BAf #H = B & # = & &
EHARE
= 1.00 8, 080. 00 8,080
& Hi 1E%HeH - 1.00K 8,080. 00 8, 080
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